EARAROBEEIERT — 2 N— IBISH —F

2012 7R 1H (B) 2mE#E2H

N >53m *B7 U5l B

EZS

= ‘

[REBE] — |2 (&) 12000 B

[A&4£] 1 7 4,600,000 23 :1,800,000 33 :1,200,000 8 4 3&:690,000 5 & :460,000 {
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN > E-LIUN :10. = . - EEFIBL (E
(B vira—n >3 L 1(1_0)6 8-8 35.9 13 :1_23 i
L:77NTZT Buie~xOy THAE
S, O L= 4 3 | BEBZ 1:10.6 3-5 36.4| — 2 482 | BAEE (RR)
2111 | 71> TSR A53.0 (7€) () |EEEH
LYy IFTLeTe BIA L RIM=T b e
AL A s 3 | AMAEE 1:10.8 6-7 36.4| — 9 428 | ERIERAZ (3EiA)
3PN 3| 7T LN 54.0 1 1/2) o |BEEeY
L:bh—trd2X BTV XX v0OlL B2 %Y K
N NN =L : - — FE=— (EH)
4N 6| Y DILEY TS E - 1(/71?:? 33 36.8 5 (4_‘;0) e
LY LTAN—F B:IRX21-TEX pait e
=X _ 4 3 | SHER 1:11.0 10-11 35.7| — 7 412 | R (EH)
58|16 77 F—Ab—L 54.0 (172 ey | BEE
R:Z&—F7FaAv—> B:TUax- BEIZY K
S 4t 3 | MEXfE 1:11.0 10-10  [35.7| — 1 426 | ERIRRAS (5A)
6|59 | T77FNI 54.0 7€) ) | R Tux—T -k
L:Fa5>8) B:I7TrLS RS
> 7 = s 3 | IARE 1:11.0 2-2 371 | — 4 458 | BEIEER (FEX)
]4 NARXTTA=7 54.0 (757 o) | ) $ITLyEI5T 5747
RHIINISF— BRE-TILT7 =¥ Ty —L
ST i A 4 3 | KEFHRIR 1:11.4 13-12 3507 — 12 482 | XEFRIE (X/)
8l5/10| EL Y ¥FTANZX b 56.0 2 1/2) (+) | FSLEE
R:v 14325 B:T74)—-ZAXZ b ZE RSB
s Sell it — 1:11. 8 7 - 4 RAES (EH)
918/15 vt/ Fay "3 56.0‘( 75)5 &9 % 8 (4338) ;ﬁgﬁ%?—
R:trs/nJod4 B4 &-FEI— KE T
S_p # 3 | HHEA 1:11.5 1-1 37.7| — 3 466 | KIEBEN (RR)
10[1]2|¥—E=-7RZ 54.0 (1NF) (1g) | LB
L:T7TxZXex%AL BRI MT-—+ i/ cie ]
S= e N : ~ - Sl (EH)
1lzl13l K33d>71UX i 3 B s 11\17_;5 6-5 37.1 6 12(1)? S
LT RYAYIV-> BUA-2TAUR HET7—L
FEIR : - — BFE— (%)
NTy NY)=—7 4 3 o (12.111/.29) 3-3 37.8 10 (5_042) A
L:X8F2—FTUNRT1 B:RLT 1 XI— K7 7 — L
o PR : — - INEERER (355#)
JLIN—TZRNLT % 3 on (11.132/.42) 16-15 36.1 1 (4&4) i
R:xAA1ZG7—Z B:AUTIWTIRILY J=HrTr—L
® o ERE— 112, — . - Hfi%EE (FXR)
Y HHINE R R 4 3 ifﬂ.o (13112/28) 13-14 37.1 15 (4+3f) =l
LAY E— BRRYTUR ' %
— . HEE : — - BB (FER)
F1 77—~ [B] 3 BR 1(71%:? 18-15 | 37.2 14 (ﬁg) bR 2%
X ThANAN B:AYOL—7— RHE S
s . ARWERDIA : - — SREE (EH)
HL A i 3 Al [ (11.113/.41) 10-13 [ 37.9 16 ?:322) maafzae
Qi h—> BiId—ILRALUZX b =M HK
@ 71 L
) 47.9-36.8
NA>Z24 L | 12.1-10.6-11.1-11.8-12.1-12.9
@ 11— S —EBlIEfL
1T=7r=
230—7F—
Gol=5r= 2,4(1,6,7) (3,13)5,15-(9,12,16)-(8,14,10) -11
43—+ — (x2,4) (6,7) (1,13)3,5,15-9,16-10,12-14(8,11)
[ N3
H OB 5 16,450 714K 1-5 5,920 e E 1-3 1,160M JEHE 1-3-5 144,620H
8 B 5 2,240H 5] 11,670M B = 55 33,740H B E=1=8 1,015,610
1 220M 1-3 2,430 B H 5-1 95,760
3 810M

ABICOVWTRDTEEERROODE. TR LIV,




